

# **Summary of Bids Received**

**Project:** Detention Basin Retrofits

Section: 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

39207 N Magnetics Blvd	Wadawarth II 60092				
	Wadsworth, IL 60083	Bid Bond	\$215,938.27	8.97%	\$17,769.3
1015 North Corporate Circle Sui	Grayslake, IL 60030	Bid Bond	\$225,026.19	13.55%	\$26,857.2
1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$227,079.25	14.59%	\$28,910.3
6754 W. 74th Street	Bedford Park, IL 60638	Bid Bond	\$252,880.50	27.61%	\$54,711.6
75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$277,685.75	40.13%	\$79,516.8
P.O. Box 1104	Huntley, IL 60142	Bid Bond	\$300,957.45	51.87%	\$102,788.5
			\$198,168.90		
IDOT(2)	Contract Bidder	P-	Γ then Plan Rack		_
Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Project File	Request By Mail	N	lgr Capital Progran	nming	
Project File	Request By Mail	N	lgr Capital Progran	nming	_
	6754 W. 74th Street 75 Koppie Dr. P.O. Box 1104  IDOT(2)  Bid Tab File	6754 W. 74th Street  75 Koppie Dr.  P.O. Box 1104  Bedford Park, IL 60638  Gilberts, IL 60136  Huntley, IL 60142  Contract Bidder  Bid Tab File  Resident Eng.	6754 W. 74th Street Bedford Park, IL 60638 Bid Bond 75 Koppie Dr. Gilberts, IL 60136 Bid Bond P.O. Box 1104 Huntley, IL 60142 Bid Bond  IDOT(2) Contract Bidder Properties Resident Eng. Are also as a series of the properties of t	6754 W. 74th Street         Bedford Park, IL 60638         Bid Bond         \$252,880.50           75 Koppie Dr.         Gilberts, IL 60136         Bid Bond         \$277,685.75           P.O. Box 1104         Huntley, IL 60142         Bid Bond         \$300,957.45           \$198,168.90           IDOT(2)         Contract Bidder         PT then Plan Rack           Bid Tab File         Resident Eng.         Administrative Assistance	6754 W. 74th Street       Bedford Park, IL 60638       Bid Bond       \$252,880.50       27.61%         75 Koppie Dr.       Gilberts, IL 60136       Bid Bond       \$277,685.75       40.13%         P.O. Box 1104       Huntley, IL 60142       Bid Bond       \$300,957.45       51.87%         IDOT(2)       Contract Bidder       PT then Plan Rack         Bid Tab File       Resident Eng.       Administrative Assistant



### **Return Bid Tabulation**

**Project:** Detention Basin Retrofits **Section:** 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

Item														Sheridan Plumbing				
No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Berger Excavating Contractors		Campanella & Sons, Inc.		Landmark Contractors, Inc.		Maneval Construction Co Inc.		Copenhaver Construction		and Sewer Inc.	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	12.0	UNIT	\$12.00	\$144.00	\$23.00	\$276.00	\$49.50	\$594.00	\$23.00	\$276.00	\$47.25	\$567.00	\$60.00	\$720.00	\$30.00	\$360.00
2	20100500	TREE REMOVAL	0.4	ACRES	\$5,000.00	\$2,000.00	\$9,300.00	\$3,720.00	\$9,625.00	\$3,850.00	\$9,300.00	\$3,720.00	\$6,825.00	\$2,730.00	\$20,000.00	\$8,000.00	\$5,000.00	\$2,000.00
3	20200100	EARTH EXCAVATION	1,040.0	CU YD	\$50.00	\$52,000.00	\$55.20	\$57,408.00	\$47.75	\$49,660.00	\$76.25	\$79,300.00	\$54.32	\$56,492.80	\$30.00	\$31,200.00	\$34.00	\$35,360.00
4	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	5.0	CU YD	\$500.00	\$2,500.00	\$55.20	\$276.00	\$500.00	\$2,500.00	\$115.00	\$575.00	\$54.00	\$270.00	\$100.00	\$500.00	\$60.00	\$300.00
5	25100630	EROSION CONTROL BLANKET	7,214.0	SQ YD	\$1.50	\$10,821.00	\$1.85	\$13,345.90	\$2.05	\$14,788.70	\$5.00	\$36,070.00	\$3.30	\$23,806.20	\$2.00	\$14,428.00	\$1.00	\$7,214.00
6	25100900	TURF REINFORCEMENT MAT	143.0	SQ YD	\$4.00	\$572.00	\$7.00	\$1,001.00	\$7.70	\$1,101.10	\$10.00	\$1,430.00	\$12.08	\$1,727.44	\$10.00	\$1,430.00	\$4.00	\$572.00
7	28000400	PERIMETER EROSION BARRIER	120.0	FOOT	\$2.50	\$300.00	\$4.00	\$480.00	\$4.50	\$540.00	\$10.00	\$1,200.00	\$2.99	\$358.80	\$5.00	\$600.00	\$4.00	\$480.00
8	28100101	STONE RIPRAP, CLASS A1	214.0	SQ YD	\$50.00	\$10,700.00	\$34.00	\$7,276.00	\$19.00	\$4,066.00	\$91.00	\$19,474.00	\$35.95	\$7,693.30	\$25.00	\$5,350.00	\$75.00	\$16,050.00
9	28100205	STONE RIPRAP, CLASS A3	176.0	TON	\$125.00	\$22,000.00	\$58.00	\$10,208.00	\$54.75	\$9,636.00	\$120.50	\$21,208.00	\$61.80	\$10,876.80	\$60.00	\$10,560.00	\$80.00	\$14,080.00
10	28200200	FILTER FABRIC	220.0	SQ YD	\$3.00	\$660.00	\$2.75	\$605.00	\$3.00	\$660.00	\$4.00	\$880.00	\$4.14	\$910.80	\$5.00	\$1,100.00	\$2.00	\$440.00
11	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	3.0	EACH	\$500.00	\$1,500.00	\$1,100.00	\$3,300.00	\$967.50	\$2,902.50	\$1,109.35	\$3,328.05	\$270.00	\$810.00	\$500.00	\$1,500.00	\$800.00	\$2,400.00
12	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	2.0	EACH	\$700.00	\$1,400.00	\$1,300.00	\$2,600.00	\$1,042.50	\$2,085.00	\$1,216.75	\$2,433.50	\$414.00	\$828.00	\$600.00	\$1,200.00	\$1,100.00	\$2,200.00
13	54247090	GRATING FOR CONCRETE FLARED END SECTION 12"	3.0	EACH	\$400.00	\$1,200.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$464.90	\$1,394.70	\$270.00	\$810.00	\$500.00	\$1,500.00	\$700.00	\$2,100.00
14	54247110	GRATING FOR CONCRETE FLARED END SEC	2.0	EACH	\$400.00	\$800.00	\$450.00	\$900.00	\$500.00	\$1,000.00	\$499.50	\$999.00	\$414.00	\$828.00	\$700.00	\$1,400.00	\$900.00	\$1,800.00
15	55100200	STORM SEWER REMOVAL 6"	26.0	FOOT	\$25.00	\$650.00	\$35.00	\$910.00	\$11.55	\$300.30	\$60.35	\$1,569.10	\$14.40	\$374.40	\$20.00	\$520.00	\$10.00	\$260.00
16	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$3,500.00	\$3,500.00	\$2,450.00	\$2,450.00	\$2,805.00	\$2,805.00	\$2,982.55	\$2,982.55	\$1,630.80	\$1,630.80	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00
17	66400305	CHAIN LINK FENCE, 6'	374.0	FOOT	\$25.00	\$9,350.00	\$21.00	\$7,854.00	\$22.58	\$8,444.92	\$20.45	\$7,648.30	\$20.48	\$7,659.52	\$25.00	\$9,350.00	\$21.00	\$7,854.00
18	66408000	CHAIN LINK GATES, 6' X 20' DOUBLE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$1,145.00	\$1,145.00	\$1,039.70	\$1,039.70	\$2,047.50	\$2,047.50	\$31,000.00	\$31,000.00	\$2,100.00	\$2,100.00
19	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	29.0	FOOT	\$50.00	\$1,450.00	\$105.00	\$3,045.00	\$39.80	\$1,154.20	\$77.90	\$2,259.10	\$33.60	\$974.40	\$90.00	\$2,610.00	\$70.00	\$2,030.00
20	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	50.0	FOOT	\$80.00	\$4,000.00	\$110.00	\$5,500.00	\$70.80	\$3,540.00	\$85.50	\$4,275.00	\$54.00	\$2,700.00	\$95.00	\$4,750.00	\$80.00	\$4,000.00
21	K0013030	PERENNIAL PLANTS, WETLAND TYPE, 2" DIAMETER BY 4" DEEP PLUG	7.7	UNIT	\$352.00	\$2,710.40	\$550.00	\$4,235.00	\$577.50	\$4,446.75	\$800.00	\$6,160.00	\$745.50	\$5,740.35	\$600.00	\$4,620.00	\$500.00	\$3,850.00
22	LC200451	SEEDING, SPECIAL I	35,388.0	SQ FT	\$0.10	\$3,538.80	\$0.34	\$12,031.92	\$0.35	\$12,385.80	\$0.15	\$5,308.20	\$0.26	\$9,200.88	\$0.50	, ,	\$0.90	\$31,849.20
23	LC200452	SEEDING, SPECIAL II	49,495.0	SQ FT	\$0.10	\$4,949.50	\$0.35	\$17,323.25	\$0.35	\$17,323.25	\$0.15	\$7,424.25	\$0.26	\$12,868.70	\$0.45	\$22,272.75	\$0.90	\$44,545.50
24	LC200453	SEEDING, SPECIAL III	27,282.0	SQ FT	\$0.10	\$2,728.20	\$0.29	\$7,911.78	\$0.28	\$7,638.96	\$0.15	\$4,092.30	\$0.26	\$7,093.32	\$0.50	\$13,641.00	\$0.90	\$24,553.80
25	X2800500	INLET PROTECTION, SPECIAL	4.0	EACH	\$250.00	\$1,000.00	\$150.00	\$600.00	\$250.00	\$1,000.00	\$171.85	\$687.40	\$150.00	\$600.00	\$100.00	\$400.00	\$250.00	\$1,000.00
26	X5424505	FLUSH INLET BOX FOR MEDIAN, STANDARD 542546, SPECIAL	1.0	EACH	\$6,500.00	\$6,500.00	\$2,800.00	\$2,800.00	\$5,511.00	\$5,511.00	\$4,155.50	\$4,155.50	\$6,400.80	\$6,400.80	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
27	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	226.0	FOOT	\$25.00	\$5,650.00	\$36.00	\$8,136.00	\$28.35	\$6,407.10	\$52.00	\$11,752.00	\$27.88	\$6,300.88	\$25.00	\$5,650.00	\$22.00	\$4,972.00
28	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	1.0	EACH	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00	\$1,480.00	\$1,480.00	\$2,962.50	\$2,962.50	\$1,840.80	\$1,840.80	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
29	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L. SUM	\$6,000.00	\$6,000.00	\$16,500.00	\$16,500.00	\$9,910.00	\$9,910.00	\$30,100.00	\$30,100.00	\$17,075.00	\$17,075.00	\$28,000.00	\$28,000.00	\$4,000.00	\$4,000.00
30	Z0013300	CONCRETE REMOVAL (SPECIAL)	97.0	SQ YD	\$15.00	\$1,455.00	\$18.00	\$1,746.00	\$12.37	\$1,199.89	\$38.40	\$3,724.80	\$8.14	\$789.58	\$20.00	\$1,940.00	\$10.00	\$970.00
31	Z0013302	SEGMENTAL CONCRETE BLOCK WALL	472.0	SQ FT	\$45.00	\$21,240.00	\$31.95	\$15,080.40	\$38.50	\$18,172.00	\$28.00	\$13,216.00	\$32.08	\$15,141.76	\$35.00	\$16,520.00	\$35.00	\$16,520.00
32		STABILIZED CONSTRUCTION ENTRANCE		SQ YD	\$25.00	\$5,950.00	\$30.00	\$7,140.00	\$57.85	\$13,768.30	\$43.75	\$10,412.50	\$30.62	\$7,287.56	\$35.00		\$15.00	\$3,570.00



### **Return Bid Tabulation**

**Project:** Detention Basin Retrofits **Section:** 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

CPMS Pin: B-00713 Let Date: 12/18/2012

Item												Sheridan Plumbing						
No.	Pay Code	Description	Quantity	Unit	Eng Esti	Eng Estimate Ber		Berger Excavating Contractors		Campanella & Sons, Inc. Landma		Landmark Contractors, Inc.		Maneval Construction Co Inc.		Copenhaver Construction		ver Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
33	Z001379	8 CONSTRUCTION LAYOUT	1.0	L. SUM	\$6,000.00	\$6,000.00	\$6,500.00	\$6,500.00	\$3,520.00	\$3,520.00	\$7,000.00	\$7,000.00	\$9,817.50	\$9,817.50	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00
34	Z002280	0 FENCE REMOVAL	190.0	FOOT	\$10.00	\$1,900.00	\$8.00	\$1,520.00	\$4.75	\$902.50	\$10.00	\$1,900.00	\$4.07	\$773.30	\$10.00	\$1,900.00	\$5.00	\$950.00
			Bid Total			\$198,168.90		\$227,079.25		\$215,938.27		\$300,957.45		\$225,026.19		\$277,685.75		\$252,880.50

CODEF Version 0.0.950 Page 3 12/18/2012



## **Return Bid Details**

**Project:** Detention Basin Retrofits

Section: 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

Item					Eng Est	Eng Estimate			
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	12.0	UNIT	\$12.00	\$144.00	\$23.00	\$60.00	\$38.79
2	20100500	TREE REMOVAL	0.4	ACRES	\$5,000.00	\$2,000.00	\$5,000.00	\$20,000.00	\$10,008.33
3	20200100	EARTH EXCAVATION	1,040.0	CU YD	\$50.00	\$52,000.00	\$30.00	\$76.25	\$49.59
4	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	5.0	CU YD	\$500.00	\$2,500.00	\$54.00	\$500.00	\$147.37
5	25100630	EROSION CONTROL BLANKET	7,214.0	SQ YD	\$1.50	\$10,821.00	\$1.00	\$5.00	\$2.53
6	25100900	TURF REINFORCEMENT MAT	143.0	SQ YD	\$4.00	\$572.00	\$4.00	\$12.08	\$8.46
7	28000400	PERIMETER EROSION BARRIER	120.0	FOOT	\$2.50	\$300.00	\$2.99	\$10.00	\$5.08
8	28100101	STONE RIPRAP, CLASS A1	214.0	SQ YD	\$50.00	\$10,700.00	\$19.00	\$91.00	\$46.66
9	28100205	STONE RIPRAP, CLASS A3	176.0	TON	\$125.00	\$22,000.00	\$54.75	\$120.50	\$72.51
10	28200200	FILTER FABRIC	220.0	SQ YD	\$3.00	\$660.00	\$2.00	\$5.00	\$3.48
11	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	3.0	EACH	\$500.00	\$1,500.00	\$270.00	\$1,109.35	\$791.14
12	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	2.0	EACH	\$700.00	\$1,400.00	\$414.00	\$1,300.00	\$945.54
13	54247090	GRATING FOR CONCRETE FLARED END SECTION 12"	3.0	EACH	\$400.00	\$1,200.00	\$270.00	\$700.00	\$472.48
14	54247110	GRATING FOR CONCRETE FLARED END SEC	2.0	EACH	\$400.00	\$800.00	\$414.00	\$900.00	\$577.25
15	55100200	STORM SEWER REMOVAL 6"	26.0	FOOT	\$25.00	\$650.00	\$10.00	\$60.35	\$25.22



## **Return Bid Details**

**Project:** Detention Basin Retrofits

**Section:** 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

Item					Eng Est	Eng Estimate			
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
16	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$3,500.00	\$3,500.00	\$1,630.80	\$4,000.00	\$2,894.73
17	66400305	CHAIN LINK FENCE, 6'	374.0	FOOT	\$25.00	\$9,350.00	\$20.45	\$25.00	\$21.75
18	66408000	CHAIN LINK GATES, 6' X 20' DOUBLE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,039.70	\$31,000.00	\$6,438.70
19	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	29.0	FOOT	\$50.00	\$1,450.00	\$33.60	\$105.00	\$69.38
20	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	50.0	FOOT	\$80.00	\$4,000.00	\$54.00	\$110.00	\$82.55
21	K0013030	PERENNIAL PLANTS, WETLAND TYPE, 2" DIAMETER BY 4" DEEP PLUG	7.7	UNIT	\$352.00	\$2,710.40	\$500.00	\$800.00	\$628.83
22	LC200451	SEEDING, SPECIAL I	35,388.0	SQ FT	\$0.10	\$3,538.80	\$0.15	\$0.90	\$0.42
23	LC200452	SEEDING, SPECIAL II	49,495.0	SQ FT	\$0.10	\$4,949.50	\$0.15	\$0.90	\$0.41
24	LC200453	SEEDING, SPECIAL III	27,282.0	SQ FT	\$0.10	\$2,728.20	\$0.15	\$0.90	\$0.40
25	X2800500	INLET PROTECTION, SPECIAL	4.0	EACH	\$250.00	\$1,000.00	\$100.00	\$250.00	\$178.64
26	X5424505	FLUSH INLET BOX FOR MEDIAN, STANDARD 542546, SPECIAL	1.0	EACH	\$6,500.00	\$6,500.00	\$2,800.00	\$6,400.80	\$4,644.55
27	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	226.0	FOOT	\$25.00	\$5,650.00	\$22.00	\$52.00	\$31.87
28	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	1.0	EACH	\$1,500.00	\$1,500.00	\$1,480.00	\$2,962.50	\$2,030.55
29	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L. SUM	\$6,000.00	\$6,000.00	\$4,000.00	\$30,100.00	\$17,597.50
30	Z0013300	CONCRETE REMOVAL (SPECIAL)	97.0	SQ YD	\$15.00	\$1,455.00	\$8.14	\$38.40	\$17.82
31	Z0013302	SEGMENTAL CONCRETE BLOCK WALL	472.0	SQ FT	\$45.00	\$21,240.00	\$28.00	\$38.50	\$33.42



## **Return Bid Details**

**Project:** Detention Basin Retrofits

Section: 11-00999-24-DR

**Description:** Detention Basin Retrofits - Various County Highways

					Eng Est	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
32	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	238.0	SQ YD	\$25.00	\$5,950.00	\$15.00	\$57.85	\$35.37
33	Z0013798	CONSTRUCTION LAYOUT	1.0	L. SUM	\$6,000.00	\$6,000.00	\$3,520.00	\$18,000.00	\$8,306.25
34	Z0022800	FENCE REMOVAL	190.0	FOOT	\$10.00	\$1,900.00	\$4.07	\$10.00	\$6.97
		Bid Total				\$198,168.90			